// set the dimensions and margins of the graph var margin = {top: 10,
right: 30, bottom: 30, left: 40}, width = 460 - margin.left - margin.right,
height = 400 - margin.top - margin.bottom; var svg =
d3.select("#my_dataviz") .append(“svg") .attr("width", width +
margin.left + margin.right) .attr("height", height + margin.top +
margin.bottom) .append("g") .attr("transform", "translate(" +
margin.left + "," + margin.top + ")"); // get the data. We'll also draw the
graph within this function d3.json("data.php", function(data) {
console.log(data); // X axis: scale and draw: var x = d3.scaleLinear()
.domain([0, 1000]) // can use this instead of 1000 to have the max of
data: d3.max(data, function(d) { return +d.price }) .range([0, width]);
svg.append("g") .attr("transform", "translate(0," + height + ")")
.call(d3.axisBottom(x)); // set the parameters for the histogram var
histogram = d3.histogram() .value(function(d) { return d; }) //Gets the
value from the data. It's not in a specific array so it's just d by itself.
.domain(x.domain()) // then the domain of the graphic
.thresholds(x.ticks(70)); // then the numbers of bins // And apply this
function to data to get the bins var bins = histogram(data); // Y axis:
scale and draw: var y = d3.scalelLinear() .range([height, 0]);
y.domain([0, d3.max(bins, function(d) { return d.length; })]); // d3.hist
has to be called before the Y axis obviously svg.append(“g")
.call(d3.axisLeft(y)); // append the bar rectangles to the svg element
svg.selectAll("rect") .data(bins) .enter() .append("rect") .attr("x", 1)
attr("transform”, function(d) { return "translate(" + x(d.x0) + "," +
y(d.length) + ")*; }) .attr("width", function(d) { return x(d.x1) - x(d.x0)
-1; }) .attr("height", function(d) { return height - y(d.length); })
style("fill", "#69b3a2") });
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